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N.B.:
1. All questions are compulsory.'
2. Figures to the right indicate full marks.

3. Draw neat diagrams wherever necessary.

Q.1 Attempt any TWO :

a) Explain the short run equilibrium of a firm under Monopoly. (7]
OR

b) Describe the features of perfect competition. ‘ 5 [7]
OR

c) What are the different forms of product differentiation. (7]

Q.2 Attempt any TWO :

a) State the concept of Dumping. (7]
OR

b) Explain the role of state in economic development. (7]
OR

c) Suppose Firms Average variable cost (AVC) is Rs. 400/-, Average Fixed
Cost (AFC) is Rs. 600 and profit margin s 25%, calculate the price of the
product. [7]

Q.3 Attempt any TWO :
a) Define capital budgeting and explain its significance. [7]
OR
b) Distinguish betwéen Net Present Value method and Internal Rate of Return
method. (7]
OR |
c) Calculate the Pay-Back -Period of the following projects and choose the best
project; ‘ (7]

Project A| B C D E F

Investment

(in lacs Rs) o4l 45} 04 ..304-90. 120




Q.4 Write notes (Any Three)
a) Price rigidity in oligopoly
b) Production cost and selling cost
c) Multiple product pricing method
d) Externalities
e) Demerits of Net present value method

f) Merits of Pay-Back-Period method.
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